MEL coeg 2 T AN 2008

G= 2" R 1) P bc

o= xrat [Cmetie
v, A
4y = 6 ) —rt{)f‘ 2¢) CPIAIY S FPNPIA PRPL
ﬂl:L .
o e "‘57 l@Cl = gF,ﬁé o
Ax 2d%

i)

A(‘:@.o‘( A= ) be KMA
| 2

. T x4l x LB gm0
= > _)____ 4 & o W
? Z"Dtl - lz, 26 Cim
‘1’?} 2 cff(').
Y
3> ! ‘3 = S—‘.h:v(,
, 5)
D/ , , , G P o = &
90 I8 270 (4.3 - 2
. -
-1 GAp e ,

o LO t:‘ﬁil’r\. -
Smh'(b 23 = 11.¢ i\ g
¢ ) = 4 X (Z)
i i f 2 ~14
. = 2L rx 2
_ /'\ - 177
T | ¢ = 2
= [41.§°  348.8°
/  Se =4a - 4
for 0" ¢ o £ o° | =7 | —&
4) =4
: -5
Seo = ¥




MEL Cote 72 JAN

2005

@

) =4, Apy, Tart 3

)

a, T4
By - 7
.,,,.3:’!0

AP aza4 a7

-t

2]

Sec h {"Za\ 4 v 5)5{}3
Z
Swp = 100(B+ 99x3)
Z 4;
= §0x 308
= )
S2S‘o

)

1D dequ o™ = loqu e

10~ = =it
:c.lbf),,,/() = laf},m?iﬁa
>3 =

oq,, 314

’ILO 3 S‘i) 4{«5

103;(&_",);,;-&4,/@3‘;‘_(.& :) o

=2 }o?)aa\ -4 'loﬁ o

H

2+ 4 loq, e

60 =266
& : _%9 pug 2.4 r‘aﬂlr;ni
AY

, AI’C, )ij’h-; = r&‘
= Sx2.4

= )2 em

o P“f Frvmg b

12 +5+S = 22em|

Sec&io'\ r?)
b) = 2%: (IOuc —-x_z)

4= S - x
| = >
Ay - & =2
Cde T 2 Z)
AE C’.p % ‘:wO
A
§ o= O
2 7

= o = ¢

I ax PM{SH” Vw‘-\ewmr w25

y= g (lotsy ~¢s)




MEL coec 2 ThAn 200S

“9 ) § = 2< Te = §2.(2 e
Meot a | __ o o
Rax hegnt = 25 mebres | New Eobal yolome reroved
| 4 7
0’1)6) ~ $262 -
\/o [ome = Area st oot Sedion st bedft,
w : H , "f" gy m‘f’?w ft:;pwm‘@, extez,

f LC) Aoy = A"‘/ﬁ& of ﬁrvm»sﬂé%, \lﬂigmﬂ, €€ mov &l Chen
o estimube would Le

. o 262 ~ 46
[ VO&‘\.}N&, — lm( b d'ﬁ){,

(row-=2)dx N o= 22 et 412

2 | 2 3 TO st T A

:2§[§°°‘333‘§' o ’ I T
| 7 url\.-:v Nt ) ~3-(:4-) 'ﬁ-(é-)» «flfz. ;

_—r: = __‘l [:\o"‘ 2(‘3! *")1’*‘“}?*"@@) , t:(": Cat ("?‘),/Zf, ‘““4.(4’) -?;Gj
5 :
| D] ay s een

=2 Jaacr(siia #luad | |
+6.44 .+.$.m)+2,;i{ When x T0 4% = 12 4o




MET coee 2 “TAN 2005 @

—lc &
o) o ‘d) - = 2z, 10 |
b (0, ’7—,) US A maximon |0 ke
g2 = log. 2,16

-kt

\'\”\CV\ ¢ _:‘4,; .
focj,,l = /af),,za + /ajm 10

Aty — x4 -1 =41 S04
A ez = leg,2e —ketlegle

B¢ 4)~2o)‘i‘s a wimimom | 04,2 = 09,24 — k€

;\\ |Il gﬁgx & g by O *"‘?;
>\v~“\€v\ - = L ) “ b kﬁ)
R L G S 2 & e

A Tep 63 5T 42 2

| = 1L -24 T =17 | - |

& 46 I 20 [ 4 9

‘,.u- 6r&y{;-¢.~{’ o'{ ho{*mz«.{ = +T£:?-_

gz LL had 130 L§ o.ag

» Line, ﬁ:’va?l\ (—Z)"’t.’[») i Eh

wrediet = Cendient T =l
4raciie o Tt:}, Gesidient “Lw{»
U{n}\ﬁ Lb-'uj, = n«\(f.ur:a“) -k = 0-95 = .6
| ( k) ' ; S go e
M4 T o (X2 o
I -k & =0,0177¢
5"’ 4 < Low -
't & k & 06,0175
17 A
?@“0\‘« jf‘&r)l"\ '4051.52,& :‘7['85’
”) v -k RS
' Z = Zs |0 2o = [
: o
f) When b=o  z =2z, I S
) ; : ; L, =0 TISE
‘,°., Zo #% tle b Z = (70.3) | O
) ' Y x b i
d?“é"«{ﬁﬁfnﬁ{m ‘Qg-l'v\\-c.{_h the When & :'74'{) z f(?a-g)ioa
t'tnptrd'w&. ot bhe drinke and o : :
reone Eenpoctuee. 1 27408

Terp & 22, F2044 T 26 C




INSERT (e C& Jan LOOS
MET cor€ 2 2 TAN 2608

11 G

logoz l.6b| 1,49 [.20 | |15 | 0.9

logipz 4

20

1.8

1.7

1.6 : -

1.5

14

13 - 3%

1.1

10

' -

09

0 5 10 15 20 25 30 35 40 45 50 ¢

4752 Insert January 2005




